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FA 510050 50ETF 2 70 60 0|8 2
FA 510100 SZ50ETF 2 70 60 0|8 2
FA 510150 EERETF 2 70 30 0|8 2
FA 510180 180ETF 2 70 40 0|8 2
FA 510210 £HEETF 2 70 60 0|8 2
FA 510230 SRIETF 2 70 50 0|8 2
FA 510300 300ETF 2 70 60 0|8 2
FA 510310 HS300ETF |2 70 60 0|8 2
FA 510330 H#E300 2 70 60 0|8 2
FA 510350 T$R300 2 70 40 0|8 2
FA 510360 I~%300 2 70 60 0|8 2
FA 510500 500ETF 2 70 60 0|8 2
FA 510510 I~%500 2 70 60 0|8 2
FA 510580 ZZ500ETF |2 70 60 0|8 2
FA 510630 T30 2 70 50 ]S &
FA 510710 _50ETF 2 70 60 0|8 2
A 510720 LIFEZR = 70 60 0|2 =
FA 510760 FETF 2 70 60 0|8 2
FA 510810 isER P 70 40 0|8 2
FA 510880 £IF)ETF 2 70 60 0|8 2
FA 510900 HEZETF 2 70 60 0|8 2
FA 511090 30EE R 2 80 50 0|8 2
FA 511260 +EEE 2 80 80 0|8 2
A 511520 B&& = 80 80 0|2 2
FA 511700 HNLET 2 90 60 S &
FA 511880 REAF 2 90 60 ]S &
FA 511990 R 2 90 90 ]S =
FA 512000 HFGETF 2 70 50 0|8 2
FA 512010 EZ5ETF 2 70 50 0|8 2
FA 512040 EfENE 2 70 60 0|8 2
FA 512050 AS500E 2 70 60 0|8 2
FA 512070 IEERIE 2 70 50 0|2 =
FA 512100 1000ETF 2 70 60 0|8 2
FA 512170 EFTETF 2 70 50 0|8 2
FA 512290 EYED = 70 50 0|8 2
FA 512400 BE&ETF 2 70 50 0|8 2
FA 512480 K 2 70 30 0|8 2
FA 512500 FE500 2 70 60 0|8 2
FA 512510 ETF500 2 70 60 0|8 2
FA 512560 iFET 2 70 50 0|8 2
FA 512570 tiEIFS = 70 50 0|8 2
A 512600 D=k = 70 50 ES &
FA 512660 ZFETETF 2 70 50 0|8 2
FA 512670 EBSETF 2 70 30 0|8 2
FA 512680 FTHES 2 70 50 0|8 2
FA 512690 SEETF 2 70 30 0|8 2
FA 512700 RiTES 2 70 50 0|8 2
FA 512710 FET kL = 70 50 0|8 2
A 512720 IHEH = 70 50 0|82 2
FA 512760 A EETF 2 70 50 0|8 2
FA 512800 $RITETF 2 70 50 0|8 2
FA 512810 ERSZEL 2 70 50 0|8 2
FA 512820 RITIRE 2 70 30 0|8 2
FA 512880 IESETF 2 70 50 0|8 2
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FA 512890 TFNER 2 70 60 0|2 2
FA 512900 IE5ES 2 70 50 0|82 2
PA 512930 AIETF 2 70 30 0|2 =
PA 512950 R = 70 60 0|2 =
PA 512980 {RIRETF 2 70 50 0|2 =
PA 513010 RRR = 70 50 0|2 =
SPA 513020 FHZHK 2 70 50 0|2 =2
PA 513040 HKEE£R] = 70 50 0|2 =
PA 513050 =S 2 70 50 0|2 2
PA 513060 1BEET = 70 50 0|2 =
SPA 513070 HKiE2850 |2 70 50 0|2 =2
PA 513090 FBiEs = 70 50 0|2 =
SPA 513100 YNISETF 2 70 60 0|2 =2
PA 513110 435100 2 70 60 0|2 =2
SPA 513120 HKRIEFZ |2 70 50 0|2 2
PA 513130 BER = 70 50 0|2 =
PA 513160 730 =2 70 30 0|2 2
PA 513170 {BERD 2 70 40 0|2 2
FA 513180 LR = 70 50 0|2 =
SAA 513190 HEZ SR = 70 50 0|2 2
PA 513200 BREZR = 70 50 0|2 =
SPA 513230 HEGE R = 70 50 S &
SAA 513260 Rl = 70 30 0|2 2
PA 513290 GHSEY = 70 30 0|2 =
SPA 513300 YNEMATS = 70 60 0|2 =
PA 513330 [EE=TES 2 70 50 0|2 =
PA 513380 RHwiEE 2 70 50 0|2 =
SAA 513390 giEES 2 70 60 0|2 =
SAA 513400 BT = 70 40 0|2 =
PA 513500 FR500 2 70 60 0|2 2
SAA 513530 BRRLIF = 70 60 0|2 =
PA 513550 FER%IES0 2 70 60 0|2 =
PA 513580 HSRIR: = 70 30 0|2 2
SAA 513590 EHBiHE = 70 30 ES &
PA 513600 fEH8ETF 2 70 60 0|2 2
PA 513630 AR = 70 40 0|2 =
SAA 513650 TReSETF 2 70 60 0|2 2
PA 513660 EESTE] 2 70 60 0|2 2
SAA 513690 BEERER = 70 60 0|2 =
PA 513700 EHBER 2 70 30 0|2 =
PA 513750 FBRRIAER = 70 60 0|2 =
PA 513770 HBIREER = 70 50 0|2 =
SAA 513780 BT = 70 30 0|2 =
PA 513820 b wap A = 70 40 0|2 =
PA 513850 ESESY) 2 70 60 0|2 2
SPA 513860 HKCRIS = 70 30 0|8 2
PA 513870 PHEIEEN = 70 60 0|2 2
PA 513910 TR = 70 60 0|2 2
SPA 513920 740 2 70 40 0|2 2
SPA 513950 1B4ELTF = 70 60 0|8 2
SPA 513970 B = 70 30 0|2 2
FA 513980 st 2 70 30 0|2 =
SPA 515000 FHEETF 2 70 50 0|2 2
SPA 515010 EEiFS = 70 50 0|8 2
SPA 515030 FSE = 70 50 0|2 2
SAA 515050 5GETF 2 70 50 0|82 2
SAA 515070 AIERRE 2 70 50 0|82 2
SAA 515080 FRIELTF 2 70 40 0|8 2
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PA 515100 £1%)100 2 70 40 0|2 =
PA 515120 BIFES = 70 50 0|2 =
PA 515170 ARk = 70 50 0|2 =
PA 515180 1004TF) = 70 60 0|2 =
PA 515210 HWERETF 2 70 50 0|2 =2
SPA 515220 JRERETF 2 70 50 0|2 =2
SPA 515230 RIHETF 2 70 50 0|2 =2
SPA 515250 HEESE = 70 50 0|2 2
SPA 515260 EBFETF 2 70 50 RS 5
SPA 515290 iR1T 2 70 30 0|2 =
PA 515300 £77300 2 70 60 0|2 =
PA 515330 X54300 2 70 40 0|2 2
SPA 515380 Z=EE300 2 70 40 0|2 =2
SPA 515390 HS300 2 70 40 0|2 2
PA 515400 KEURE = 70 50 0|2 2
PA 515450 £1750 2 70 60 0|2 =
PA 515600 R BIHET = 70 60 MES 5
SAA 515650 jE2250 2 70 50 0|2 =
PA 515700 e 2 70 30 0|2 =
SAA 515710 BRETF 2 70 50 0|2 2
PA 515750 %50 2 70 50 0|2 2
SPA 515790 SLRETF 2 70 50 0|2 2
PA 515800 800ETF 2 70 40 0|2 2
PA 515880 B{SETF 2 70 50 0|2 2
SPA 515890 £TFI AT 2 70 60 0|2 =
SAA 515900 RBJETF 2 70 60 0|2 2
SAA 515950 EZisk 2 70 50 0|2 =
SAA 515980 AT ERE = 60 0 0|2 =
SAA 516010 HEXRETF 2 70 50 0|2 2
SAA 516090 FHEIRE 2 70 60 0|2 =
PA 516110 YSZEETF 2 70 50 ES &
PA 516150 wmIES 2 70 50 0|2 2
PA 516160 FasR = 70 50 0|2 2
PA 516310 RITIEE = 70 50 0|2 2
PA 516350 50 2 70 50 0|2 2
SAA 516510 =itE 2 70 50 0|2 =
SAA 516640 oAk = 70 50 0|2 2
PA 516670 BWFRE = 60 0 0|2 2
SAA 516780 FMLETF 2 70 50 0|2 2
PA 516820 = gelri = 70 30 0|2 =
PA 516860 SRR = 70 50 0|2 =
PA 516880 FEIR50 2 70 30 0|2 =
SAA 516920 HHES = 70 30 ES &
PA 516950 EFEETF 2 70 30 S &
PA 516970 E750 2 70 50 0|2 2
SPA 517090 HERETF 2 70 60 S &
PA 517180 FEER 2 70 60 0|2 2
SPA 517520 e = 70 30 0|2 2
PA 518660 TiRES 2 70 40 0|2 =
PA 518800 BHeES 2 70 60 0|2 2
PA 518850 ®E9999 |2 70 60 0|2 2
SPA 518880 EEETF 2 70 40 0|2 2
PA 520660 BLFINF |2 70 60 0|2 =
PA 520900 LRIES 2 70 60 0|2 2
SPA 520990 EFLLF = 70 40 0|2 2
SAA 560010 100082 |2 70 60 0|2 =
PA 560050 MSCIA50 2 70 40 0|82 2
PA 560080 hZ5ETF 2 70 30 0|82 2
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A 560090 NE=2ita = 70 30 0|2 =
FA 560170 R = 70 50 0|2 =
FPA 560260 Ef750 2 70 50 0|2 =
PA 560350 A501524 = 70 40 0|2 =
PA 560610 AS00fE88 |2 70 40 0|2 =
SPA 560700 JRETF50 2 70 60 0|2 =
PA 560800 FETF 2 70 30 0|2 2
PA 561160 FERERH 2 70 50 0|2 =
PA 561230 A50 2 70 40 0|2 2
PA 561580 RPLTF = 70 60 0|2 =
PA 561910 EEBETF 2 60 0 0|2 =
SPA 561980 SHIRE = 70 30 0|2 =
SPA 562000 iEA100 |2 70 60 ES =
SPA 562310 300551 = 70 40 0|2 =
PA 562500 HEEA = 70 50 0|2 =
PA 562510 BRHFETF 2 70 50 0|2 =2
SPA 562800 wEERE 2 70 50 0|2 =
PA 562890 AS0HRIE 2 70 60 S &
SPA 562990 Tk FIE 2 70 60 0|2 =
SAA 563000 FhEAS50 2 70 60 0|2 =
SAA 563020 {ERAR) 2 70 60 0|2 2
PA 563080 iFAS0E |2 70 60 0|2 2
PA 563300 iE2000 |2 70 60 0|2 2
PA 563350 HHEAS0 2 70 60 0|2 2
PA 588000 18150 2 70 60 0|2 =
FA 588010 Fleltart = 70 60 0|1& &
SAA 588030 RIEEE 2 70 60 0|2 =
PA 588050 RIBIETF 2 70 40 0|2 2
SAA 588060 anz St 2 70 60 0|2 =
PA 588080 #1850 2 70 60 0|2 =
PA 588090 FIeIR = 70 50 0|2 =
SAA 588120 FI100ETF |2 70 60 0|2 2
PA 588180 R}BI50E 2 70 40 0|2 2
PA 588190 7161100 2 70 40 0|2 2
PA 588200 ReS = 70 50 0|2 2
PA 588220 REJ100F |2 70 40 0|2 2
PA 588280 RelRE = 70 40 WES &
PA 588290 AR 2 70 30 0|2 2
PA 588300 BIETF 2 70 40 0|2 2
PA 588330 Bk = 70 60 0|2 =
PA 588360 BIBIETF 2 70 60 0|1& =
PA 588380 BII50ETF 2 70 60 0|2 2
PA 588400 WEY50 2 70 60 0|2 2
PA 588800 &gyl00c |2 70 60 0|2 2
PA 600000 HARIRIT = 70 50 0|2 2
PA 600004 Bz=Hi% 2 60 20 0|2 =
PA 600006 RIXARAD B 0 0 0|2 =
PA 600008 EOIFMR = 60 20 0|2 2
PA 600009 = [h7] 2 65 20 0|2 2
PA 600010 EIMRRAD B 0 0 0|2 =
PA 600011 HBEERR 2 65 20 0|2 2
PA 600012 RGeS = 50 0 0|2 2
PA 600015 HLEIRT 2 70 30 0|2 2
PA 600016 RERT = 70 30 0|2 2
SPA 600017 HEE®S B 60 20 0|2 2
PA 600018 BER = 60 20 0|2 =
PA 600019 S = 70 30 0|2 =
PA 600020 FEER = 60 20 0|2 2
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PA 600021 n=izcha) = 60 20 0|2 =
FPA 600022 LIZRENER = 0 0 0|2 =
FPA 600023 HreEER = 65 20 0|2 =
PA 600025 FEREIKER 2 60 20 0|2 2
PA 600026 ThiriEae = 60 20 0|8 2
PA 600027 B ERR = 65 20 0|2 2
PA 600028 hEAL = 70 30 0|2 2
SPA 600029 BEEinE 2 0 0 0|2 =
SPA 600030 SIS 2 70 50 0|2 2
FA 600031 =—ET 2 70 30 0|2 =
PA 600032 i1 = 50 0 0|2 2
SPA 600033 EEEE = 60 20 0|2 =
PA 600035 BREE = 50 0 0|2 2
PA 600036 1BERIT = 70 50 0|2 2
PA 600037 MEGL = 0 0 0|2 2
PA 600038 =) 2 60 20 0|8 2
SPA 600039 PO) | |B&H 2 65 20 0|2 =
PA 600050 hEBSE 2 70 30 0|2 2
SPA 600052 R 2 0 0 0|1& )
PA 600054 EI)iiic3 2 50 0 ES &
SAA 600055 BERET = 60 20 0|8 2
PA 600056 FEE? 2 60 20 0|2 2
PA 600057 Bigls 2 60 20 0|2 2
PA 600058 By RE 2 50 0 0|2 2
SPA 600059 Epy Al 2 60 20 0|2 =
SAA 600060 EEIE 2 60 20 0|2 =
PA 600061 EWREA 2 65 20 0|2 2
PA 600062 HEENES 2 60 20 0|2 2
SAA 600063 AR 2 60 20 0|2 =
PA 600066 FEEE = 65 20 0|2 =
SAA 600067 ST 2 0 0 0|2 =
A 600072 TRRERS = 60 20 0|2 =
SAA 600073 S¢EARgl = 60 20 0|2 2
A 600076 EERRATAE = 0 0 0|2 =
SAA 600078 BERD = 0 0 0|1& =
SAA 600079 ANEEH 2 65 20 0|2 =
SAA 600080 STERID = 50 0 S &
SAA 600081 EXREE = 50 0 0|2 =
A 600084 FEEH = 0 0 0|& &
PA 600085 G 2 65 20 0|2 2
A 600088 PG 2 50 0 0|2 =
PA 600089 BT 2 70 30 0|2 2
A 600095 HANARRAD = 0 0 0|2 =
PA 600096 =AM = 65 20 0|2 =
PA 600097 FEIERR = 50 0 0|& &
PA 600098 I NER = 60 20 0|2 =
PA 600099 WS = 50 0 VES &
SPA 600100 Ekagii) 2 65 20 0|2 2
SPA 600101 BEERE N 2 60 20 0|2 2
SPA 600103 Ll 2 50 0 S &
PA 600104 H5&EH 2 70 30 0|2 =
PA 600106 BRI = 60 20 0|2 2
SPA 600108 TIESEEH = 60 20 0|2 =
SPA 600109 E&ils = 65 20 0|8 2
PA 600110 EERD = 0 0 0|2 =
SAA 600111 bt 2 70 30 0|82 2
PA 600113 GRS = 60 20 0|2 2
PA 600114 IREERR D = 60 20 0|2 =
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PA 600115 FERR = 0 0 0|2 2
FPA 600116 =gk = 60 20 0|2 =
FA 600117 FET4HN = 0 0 MES )
SPA 600118 FERE 2 0 0 0|2 =2
SPA 600119 KITRE = 0 0 ES 5
PA 600120 IRIERA = 60 20 0|8 2
PA 600121 RBINIRER = 50 0 0|2 =
SPA 600123 =7ERel 2 60 20 0|2 =
SPA 600125 BT 2 60 20 0|2 =
SPA 600126 TUERARAD = 0 0 0|2 2
PA 600127 SR 2 0 0 0|2 =
PA 600128 HEzshll 2 50 0 S &
PA 600129 ARER = 0 0 0|2 2
PA 600131 EMEE = 60 20 0|2 2
FA 600132 BEXIEE 2 60 20 0|2 =
SPA 600133 Kiiesh = 60 20 0|2 =
SPA 600135 R H 2 0 0 0|2 =
PA 600138 Sk 2 60 20 0|2 =
PA 600141 MR ER = 65 20 0|2 2
PA 600143 EREH = 65 20 0|2 =
PA 600148 K&EKR 2 0 0 O] ES &
PA 600150 FERERE = 70 30 0|2 2
SAA 600151 BRRHLER 2 0 0 0|2 =
SAA 600152 HRIEA = 0 0 S &
PA 600153 RN = 65 20 0|2 2
SAA 600155 HLR=EF = 60 20 0|8 2
SAA 600157 KZ=EETR 2 65 20 0|2 =
PA 600160 B 2 65 20 0|2 =
PA 600161 KIZEY) = 65 20 0|2 =
FA 600163 R 2 50 0 0|2 =
PA 600166 BESE = 60 20 0|2 =
A 600167 BXSEIRER = 50 0 0|2 =
SAA 600168 HINER = 50 0 0|2 =
PA 600169 ARET 2 60 20 0|2 2
PA 600170 LT = 60 20 0|2 =
PA 600171 e =PNES = 65 20 0|2 2
PA 600172 Exlind = 0 0 0|2 =
SAA 600176 FEER = 65 20 0|8 2
PA 600178 RLHN = 0 0 O] ES &
PA 600179 RIBIEER = 60 20 0|8 2
PA 600180 wE 2 50 0 0|2 2
PA 600182 SESG 2 50 0 S &
PA 600183 Rl = 70 30 0|2 =
A 600184 SEEBARAD = 0 0 0|2 =
SPA 600186 EECIERE = 60 20 0|8 2
PA 600187 E7kSE = 60 20 0|2 2
PA 600188 R SR = 65 20 0|2 2
PA 600189 RIAR = 0 0 IES &
PA 600195 FRAAR D = 60 20 0|2 2
PA 600196 SEEH 2 65 20 0|2 2
PA 600197 ek 2 60 20 0|2 2
PA 600199 ESWTFE = 0 0 0|2 2
PA 600201 PR = 60 20 0|2 2
PA 600206 B = 60 20 0|2 2
PA 600207 e Ao = 0 0 0|2 =
PA 600210 BT 2 60 20 0|2 2
PA 600211 [l eshd = 60 20 0|2 2
PA 600212 FEEET = 0 0 0|2 =
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PA 600215 RERAA = 50 0 ES 5
FA 600216 HmIEZS = 60 20 0|8 2
PA 600217 FREEIR = 0 0 0|2 2
SPA 600218 C3nIpA) 2 50 0 0|2 =
PA 600219 mgLLERk = 65 20 0|2 2
PA 600221 TSR = 0 0 0|2 =
PA 600222 ARzl 2 50 0 0|2 =
SPA 600223 BIA = 50 0 0|2 =
SPA 600226 =B 2 60 20 RS 5
SPA 600227 TRAM 2 0 0 ES 5
PA 600229 R = 50 0 0|2 2
SPA 600230 FEINAA = 50 0 0|2 =
FA 600231 EIMARAD 2 0 0 0|2 =
FA 600232 SERD 2 50 0 ES 5
PA 600233 [REIESE = 65 20 0|8 2
PA 600235 RFIHR 2 50 0 S &
PA 600236 KBS = 50 0 0|2 2
PA 600237 HRIEER T = 50 0 0|2 2
PA 600241 RETE = 50 0 ES &
PA 600248 REREERRD 2 60 20 0|2 2
PA 600249 TR = 50 0 S &
SPA 600251 AR 2 50 0 0|2 =
A 600252 PiEEH = 0 0 0|2 =
SAA 600255 Zrlgrt = 60 20 0|8 2
PA 600256 JCBER 2 65 20 0|2 =
PA 600257 KitARg D = 0 0 0|2 =
PA 600258 )i = 60 20 0|2 2
SAA 600259 I Ret 2 0 0 0|2 =
SAA 600261 FRCERRA 2 50 0 0|2 2
SAA 600262 | 9a)4%) 2 50 0 0|1& &
PA 600267 TEIEZ 2 60 20 0|2 2
SAA 600268 EEBREE = 60 20 0|8 2
PA 600269 BESE 2 60 20 0|2 2
PA 600271 NS = 0 0 0|2 =
A 600273 EEER = 60 20 0|2 =
PA 600276 BIREA = 70 50 0|2 2
SAA 600278 piypind = 50 0 0|2 2
PA 600279 BKB 2 50 0 0|1& =
FA 600282 EHMARD 2 60 20 0|2 2
PA 600283 HTKF = 50 0 ]S =
PA 600284 SHIRENR 2 60 20 0|2 2
PA 600285 BT = 60 20 0|2 2
A 600288 PN I=F Sk = 0 0 0|2 =
SAA 600292 AR = 60 20 0|2 =
PA 600293 :Ih%‘-?‘ﬁﬂ 2 50 0 0|2 2
PA 600295 ER/REBHT 2 60 20 0|2 2
PA 600298 Eoeilizay B 65 20 0|2 2
PA 600299 Ko tiba) = 50 0 0|2 2
PA 600300 YELERR (D = 50 0 ES &
PA 600301 o] = 60 20 IES &
FPA 600303 EESCRRD 2 0 0 0|& =
PA 600305 BB B 60 20 0|8 2
PA 600307 TN 2 0 0 0|2 2
PA 600308 S = 50 0 0|2 2
PA 600309 R 2 70 30 0|2 2
PA 600310 I FEREIR = 50 0 0|2 2
PA 600312 FEES 2 60 20 0|82 2
SAA 600313 REM 2 60 20 0|2 2
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PA 600315 s 2 0 0 0|2 =
FPA 600316 HEBIE = 0 0 0|2 =
FPA 600319 TWENZE = 0 0 ES 5
SPA 600320 REET 2 60 20 0|2 =
SPA 600323 BIEINE = 60 20 0|2 =
SPA 600326 FORIALS = 0 0 0|2 2
SPA 600327 KEH = 50 0 ES 5
PA 600328 shEMb T = 60 20 0|2 2
PA 600329 o= 2 60 20 0|2 2
SPA 600330 KB D = 60 20 0|2 =
FA 600331 TRIKRRAD 2 0 0 0|2 =
PA 600332 B=Ll 2 65 20 0|8 2
SPA 600333 KERS = 0 0 0|2 =
FA 600335 ENSE = 50 0 0|2 =
PA 600336 JRFEY 2 0 0 0|2 2
PA 600337 EnxE = 0 0 0|2 2
PA 600338 FERERIE 2 60 20 0|2 2
PA 600339 TR 2 60 20 0|2 2
SPA 600343 SN IPA 2 0 0 0|2 =
PA 600345 KTBE = 50 0 0|2 =
PA 600346 BHAaK = 65 20 0|2 2
SPA 600348 HEBRRRAD 2 60 20 0|2 2
SAA 600350 EEE 2 60 20 0|2 =
SAA 600351 W=z 2 50 0 0|2 =
SPA 600352 iAW 2] 2 65 20 0|2 2
SAA 600353 TEYCEF 2 60 20 0|2 =
PA 600354 EUEFI 2 50 0 0|2 =
PA 600356 EESEAI] 2 50 0 S &
PA 600359 R R = 50 0 0|2 =
SAA 600361 Bl 2 60 20 0|1& &
PA 600362 PN 2 65 20 0|2 2
SAA 600363 BXBIYEER 2 65 20 0|2 2
SAA 600366 TR 2 60 20 0|2 =
FA 600367 TERE = 50 0 0|2 =
SAA 600368 FMEZIE = 50 0 0|2 =
SAA 600369 FEREIES 2 60 20 0|2 2
SAA 600370 =ES 2 0 0 0|1& &
SAA 600371 TR 2 50 0 S &
FA 600372 SRR 2 65 20 0|2 2
PA 600373 PG = 60 20 0|8 2
PA 600377 TIPEE = 60 20 0|2 =
SAA 600378 SR = 60 20 0|8 2
SAA 600379 AR 2 50 0 0|2 =
PA 600380 @Bt = 60 20 0|8 2
PA 600382 I IRBEEE = 0 0 0|& =
PA 600386 AL = 50 0 0|2 =
PA 600388 IR 2 60 20 0|2 2
PA 600389 LU = 60 20 0|2 =
PA 600390 R &R = 60 20 0|2 =
PA 600391 Py E e = 60 20 0|2 2
PA 600392 BAER = 65 20 0|2 2
PA 600395 BT = 60 20 0|2 2
PA 600396 HEEBITRE 2 50 0 IES &
PA 600397 LRl = 0 0 IES &
PA 600398 ERZR = 65 20 0|2 2
SAA 600399 b g = 60 20 0|2 =
SAA 600400 AT 0) 2 0 0 0|2 =
PA 600403 KXBBER = 0 0 0|2 =
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PA 600406 EFE EHG = 70 30 0|2 =
FPA 600408 LEER = 0 0 ES 5
PA 600409 =kRH*tT 2 60 20 0|2 2
SPA 600410 HEHRA 2 0 0 0|2 =
PA 600415 INE R = 70 30 0|2 2
PA 600416 HEEB AR D = 60 20 0|2 2
PA 600418 IDESSE = 0 0 0|2 2
SPA 600419 KiEgLk 2 50 0 ES 5
SPA 600420 EZIL 2 60 20 0|8 2
PA 600422 BEH = 60 20 0|2 2
SPA 600425 SR 2 50 0 0|2 2
PA 600426 HwEEH = 65 20 0|2 2
PA 600428 I = 60 20 0|2 2
SPA 600429 =JTh D 2 50 0 ES 5
SPA 600433 BE= = 50 0 0|2 =
SPA 600435 |9l 2 0 0 0|2 =
PA 600436 F1FE = 70 30 0|2 2
FA 600438 BRI 2 0 0 0|2 =
PA 600439 UGS 2 0 0 ES &
SAA 600444 EWLER 2 50 0 ES &
SAA 600446 SRS 2 0 0 0|2 2
HA 600448 RN = 0 0 0|2 =
SAA 600449 FEEN 2 50 0 0|2 2
PA 600452 SRR = 60 20 0|2 2
PA 600455 @D = 50 0 0|& &
SAA 600456 ESIN i) 2 60 20 0|2 2
FA 600458 A 2 60 20 0|2 =
SAA 600459 S=HsAl 2 60 20 0|2 2
SAA 600460 += 2 65 20 0|2 2
PA 600461 RasiEdN 2 60 20 0|2 2
SAA 600467 TR 2 50 0 0|2 2
A 600468 BfES = 0 0 0|& =
SAA 600469 XA ALY = 50 0 0|2 2
SAA 600470 NEWT 2 50 0 0|2 2
PA 600475 S EINEE = 60 20 0|2 2
A 600476 HEEBRM = 50 0 0|& &
PA 600477 ) = 50 0 0|2 =
PA 600478 i = 60 20 0|2 2
SAA 600479 F&# = 50 0 S &
SAA 600480 BRI 2 60 20 0|2 2
A 600481 WRTIHE = 0 0 0|2 =
PA 600482 FEzH = 65 20 0|2 2
SAA 600483 (S = 60 20 0|2 2
SAA 600486 BRUT 2 60 20 0|2 2
PA 600487 =E¢E 2 65 20 0|2 2
SPA 600488 gzl 2 50 0 WS &
PA 600489 FERES = 65 20 0|2 2
SPA 600491 TR 2 0 0 0|2 2
SPA 600493 RUFT44R 2 50 0 S &
PA 600495 EFaEM = 0 0 0|2 =
PA 600496 rE L = 60 20 0|2 2
PA 600497 TR = 65 20 0|2 2
SPA 600498 NGBS = 60 20 0|8 2
SPA 600499 FhAFNE 2 60 20 0|2 2
PA 600500 P ERR = 0 0 0|2 =
PA 600501 KRB = 0 0 0|2 =
PA 600502 THEET = 60 20 0|2 2
SAA 600505 [iil=lzzh) 2 0 0 0|82 2
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FA 600507 FAREFH = 60 20 0|2 =
A 600508 LiBEeR = 50 0 0|2 =
FPA 600509 XEBOR = 60 20 0|2 =
PA 600511 EZ5RRAD = 60 20 0|2 2
PA 600512 BEIRES = 50 0 0|2 =
SPA 600513 BRIRZG I 2 50 0 RS 5
PA 600516 BRRER = 60 20 0|2 2
PA 600517 EZESN = 60 20 0|2 2
PA 600518 Bl 2 0 0 0|2 =2
PA 600519 BNFE = 70 50 0|2 2
PA 600521 gzl = 65 20 0|2 2
PA 600522 AR = 65 20 0|2 2
PA 600523 i) = 50 0 0|2 2
SPA 600526 FEEMR 2 50 0 ES 5
PA 600527 PN 2 50 0 S &
PA 600528 Fhgk Tl 2 60 20 0|2 2
SPA 600529 LZRZGTR = 60 20 0|2 =
PA 600530 RABIL 2 50 0 0|1& &
SPA 600531 Bt e = 60 20 0|2 =
PA 600535 Xt+h = 60 20 0|2 =
PA 600536 PR 2 0 0 0|12 =
PA 600537 {28 = 0 0 0|2 =
PA 600538 E &% D 2 0 0 0|& &
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